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If so even with witnesses also, since he can say, I returned it to you, etc.

Overview'
"R asked 727, according to you that an 12X is believed, when there are no 2’7y,
since he has a 1 of 2"77%, so too he should be believed even if there are o7y,
since he has a 1 that he could have said, ‘I returned it to you’. mo01n discusses
this question.
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The explanation of s"2X question on 7127 is; the 7Iwn is understood according to
me (M2X), that I do not differentiates whether there was 2>7¥ or whether there
was no 2’7y -
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Rather, I differentiate whether it was X9 or not; meaning that in a case -
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Where it is 789, even where there were no 2°7y that can testify that he gave it to

the 1218, nevertheless since it was %7, he is not believed, as 3°2X states shortly -
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And where there was no 1189, the rule is that even though there are 2°7¥ that he
gave it to the 12X, nevertheless the 123X is believed that he bought it, with a 1a»

that he could have said, ‘I returned it to you’, and then he would be believed since

there is no X" -
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However according to you (7727), since you maintain in a case where there are

277V, so even if ;IX" X® he is not believed, the question is -
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Why is he not believed with a 1% that he could have said, ‘I returned it to

!'See ‘Overview’ to the previous 928 7"7 'oin.
2 There is seemingly an inherent difficulty in s'2X question. *aX is asking that even if there are 0>7v, the 12X should
be believed; however the mwn stated that an 12X is not believed, so according to »ax that an 1 is believed even
when there are 07y, how can we understand the m1wn. Seemingly his question is not on 727, but rather on the mwn.
Also how do we understand the term °277 °R (if so). What is he referring to?!.
3 This means whether or not there were o>7v that saw the owner transfer the item to the 7.
4 %1 means that there are witnesses that the 12 is currently in the possession of the disputed item (so the 1R
cannot claim, ‘I do not have it’).
5 See the X113 on the 2 Ty regarding X1 and the 2"2w there X 7"7 (at the [very] end).
6 »2x maintains 2°7v2 ¥ A TIX PR 027V 1720 YRR TR, in disagreement with 727.
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you’?!

In summation, »2aX is challenging 727 who maintains that believing the 12 is only dependent on
whether there are 2>7v when it was given to the 1R, or not, but it makes no difference whether
we know that the 12X has the item now (7X7), or not. The question then is just as he is believed
when there are no 0°7¥ because of the 13n of 0"779, the 12X should also be believed even if there
are 0>7¥ because of the 13°n of "n7117. However according to 2R what matters is only if it is 7X"
or not, therefore the 771w is discussing a case of X7, regardless whether there are 7 or not.

mooIn is not satistfied with this explanation:
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However there is a difficulty with this explanation, for the language of *aX
asking, ‘if this is so, even with 2>7v, he should also be believed’, this language

does not fit with the previous explanation -
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Rather it implies, ‘if it is so that without 237y the 12X is believed with the %

of 0"71%, so even with 237y we should also employ the % of *n1mi and he should
be believed; however -
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It is understood according to me (*°2X) that I do not consider a 13°% when there

are no 7Y (if it is X)), so even when there are 2>7v there is also no Y -
$PNNY 129299 DY NN PRI WD PNT DN 1939 NYP 77799 NON

However according to you (727) who maintains a 13°» when there are no 0’7y, the
difficulty is, there should also be a 13°» when there are 2>7v. And the n''9 insisted
on explaining the question of »aX (as we said previously?), however it does not
appear at all to be correct according to the 5''1.

Summary
Seemingly the question of »aX is if 727 distinguishes only between 2>7v X 27y w°

but not whether 7% or not, there should be a 131 by 7y v just like 2>7v PX.

7 According to the previous vws it seems that »ax is challenging 7317, why does he distinguish between 0>7va and 7w
o°7v3, when he should really distinguish between 781 and 781 82. However there is no mention here in the X3 (at
this point) anything about x".

8 The straightforward reading of the question is simply, if you say wn (of 2"77%2) by 27w X (to which »ax
disagrees), why not say 1»n (of n71mi) even by 2>7v. Therefore »aR (who is challenging 727) means to say that there
is no 1 at all even by 07y 1X. However this vw» is also difficult (see R"w"n), since 2R agrees that there is a 1»
of »nami (by 781 &), See ‘Thinking it over’.
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Thinking it over

1. Previously m»oin taught that according to »ax the statement of 77127 was in a case
of x7;” how can then *ax ask that even if there are 0’7y, he should be believed
with a » of 1»na1n, how can he claim vnarmn if it is IRA?!

2. Why can’t we say that »aX maintains that there is never a 2% by X7 and there is
always a 2n by 11X X7, and the vw» is like Mmoo says in the end, because »ax
assumes that the 71wn is in a case of X7 (and that 727 assumes that it is in a case of
R RY).

9 See previous 7ax 11"7 'o1n [TIE footnote # 4].
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